
13C .
① 101 . LESSON 1 HW SOLUTIONS

① (i ) fcc) = (IT- 2kt ) t 3 = 2

Lii ) fiery fax, = fins
,
x
'
- 2x t 3=2

(Iii ) xliryfcx) = Fa)
:
.
f is continuous at X = I

② E) g co) = I t I = 2
(ii ) xlingotgcx) =×lif+2tT× = 2

Lifo-g = king - it e- × = 2

:
.
lim

(Iii ) him
x-so 847=2

x -so gag
= g co )

: . G is continuous at X = o

③ Li ) re-D=s
Lii ) fig, rex) Itis,xt2 = I

Ciii ) fine , rust rot)
a

.

. r is not continuous at X = - I

④ Ci ) f- Co ) = 02+2=2
* NOTE : STEP Ci ) could

Cii) lying, fix ) -xligftx't 2=2 ④ have been skipped
txihfo - fan =×li→mo- Ix → - is

"

one
. .

in this problem

.
! figo fox) DNE

(Iii ) Lingo fix) # Flo) e : f is not continuous at X-- o



⑤ ( i ) gt3) DNE
(iii) lying, gcx) + gcs)

"

nothing equals gas
"

•

°

. g is not continuous at X =3

B] gcx ) -
- f ×±3

←
"

6
"

plugs in the holeG X =3

⑥ Ci) d (4) DNE

(iii ) xlignydcxetdhe)
- : d is not continuous at x = 4

B) dcxy = {f# × ¥4
C- math shows us that

④ x = 4 ¥7, dcx) = 4

* ¥: daa -- x' YE. = III. " =.li#rxtz--④*
⑨ ( i) h ( o) - o

(ii ) - I Isin 'T E I C- Given sin G is alway between
-I and I

- X E xsing ex C- multiply all sides by x
him
- x = o

X-70

him × = o

' : III x sin I =o (sandwich Than )
x → o

( iii ) xlismohcx) -- hlo )

c : h is continuous at x=o



⑧ Ca) y
- 3=5(x- z)

( b ) y
- 3=-41×-2) } same point 13,2)m normal = - reciprocal

⑨ Ca) Ave rates
=
f- (4) - fl- z)

C- 2,4] =-=-D

(b) f
'

Ci ) = Iim fc-ithn-f.li;no Ftth )
'

-4(Ith )) - f- 3)
h → o T

= thing 1t2hthh3= thing hlh = lingo h - 2=-20

(C) f- ( 1) =-3 f
'

Ci ) = - 2 →yt3=-2Cx-\
④ Ca) avg.zr.aytgo.fm#j=lQ-H--⑤
(b) flog = thing

.Hoth) = ?

Office) = thing ,.fm#-Ho)=hi;nofothi-Ith'I=lninsi..hIh=k;mo..h-i
① flip = lingo.HothL= Inigo .

'

"th = Lingo. -t.li:O. - I =①

.

.

.

lim fCothy = - I g
i. e f to ) = - l

h -so -

The graph of f-Cx) is smooth at X = o

(c) flo) = o f'lo ) = - I
g y-



④ a) average ratio = f% =HI = ②[- 4
,
o ]

b) f
'

f- z ) = thing ff2th)h-fC# = ?

D f't C- 2) = thing+ ft2th)- = lingo, -t2thKF4#
÷ line
. +

-

= thing, HATIh

= Limo+ 4 - h = I

D f!C- z) = lim H-2th)-fC# = thing, 2f2th)-[-4#h-25 h

= lim -

4t2hht4_ = thing
,
2nd = Lingo. 2 = I

h→o-

←

a

. ht info ff2th)h DNE ft-2) DNE
-

Thereisacorne.ro/-X=-2-
c) The graph of f does not have a tangent at x = -z

⇒



④ a) g In = thing Sathya = Lingo¥hI÷=
him
.
It, - III, = thing I¥n
÷

Common = Info ¥h, =

b) gin = fin
. 8"8 = finnat

x - Z

= lim
= t.in
.X→ 2 x - z

=
z

-" .¥, = fish Ix =


